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Mili Zaci,

moc Vas vSechny zdravim a posilam ucivo na tyden od 1.6.

2.6.

Nejprve kli¢ ke cviceni 51/4 v PS

worry, trouble, nervous, jelly, butterflies, pounding, shaking, allready, starving, beginning,

embarrassing, really, stomach, secretary, cool, feel, mistake, worried

Dale pak prosim vypracujte cviceni 5 také na strané 51

CD k poslechu 6 najdete na konci PS, ale posilam i touto cestou

https://lobkovicovo-

my.sharepoint.com/:u:/g/personal/krylova lobkovicovo c¢z/EbqQcwDNdw9EjiAvvDC31tUB

M6ih7FOYOy gvu 1IDV5sUw?e=VzemKf

4as.6.

Prosim vypracujte do Skolnich sesitll a poslete mi ofocené do 7.6. ke kontrole. Dékuyji.

rogress check \

1 Write the words for the definitions.
If you can't see, you're b_lind

Cutting down a lot of trees. d
Something that isn‘t real. a f

Ice does this when it gets warm. m

d

A greenhouse gas. ¢
A ship that carries oil. an o t

NOoOubh wN =

An area with a lot of trees in a hot country.
ar___

]

An animal’s hair. f___
9
10

An animal that is gone forever is e
Baby bears. ¢

11
12
13

14
15
16
17
18
19
20

A very big storm. a h

Coal, oil and gas. f _f
Black and white birds that live in the Antarctic
P.

When there is no rain for a long time. a d

A child with no parents. an o,
Cars and factories produce this. p
I've got b ____in my stomach.
If you can recycle something, it's r__
Something used instead of petrol. b

Cans are made of this. a

2 Complete the texts. Use the passive form of the verbs in brackets.

00

j 1 (present slmple)
The world’s forests are very important. Billions of
tonnes of CO, *are absorbed (absorb)
by trees. Most of the world's rain 2

___ (produce) by the forests, too. They
also provide homes for many animals. When a

g forest? (destroy), a lot of
animals*_ (kill). Others

§°— (driveout) by all the

§ noise.

2 (future with will)
¥ In the future, some important minerals on Earth
s will be used up (use up). What will
= happen then? Some people think that minerals
7 (find) on other planets
% or on asteroids. Spaceships #
(send) into space, the minerals
(mine) and they
(transport) back to

(do) by

9

10

Earth. The work 1
robots.

3 (present perfect)
The area of Newlands used to be a dirty

industrial site, but in the last few years, it
2 has been changed __ (change) into a

beautiful natural park. All the old industrial
buildings (knock down).
The land used to be full of dangerous chemicals,
but it (remove) now and
a huge lake (create) for

fishing and sailing. Thousands of trees
1 ___(plant) so far and more
will be plamed in the future.

2

i

¢
4 (past simple)
Climate change isn’t a new thing. The lost city of
Caracol is in Central America. The city 7 was _
_abandoned ___ (abandon) in the 11th century.
Soon it 8 (cover) by the
rainforestandit®____ = (not
see) again until 1937 — 900 years ]'1ter When the
trees 20 (clear), temples,
palaces and thousands of houses 2!

(find). Why did the pcople 1eave?

At first, archaeologists thought that they N
AR (drive out) by other ﬁ
people. But now we know that the civilization
2 ___(destroy) by a long
drought






